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SET 1 Easy 
Directions (1-5): Study the following information to answers the 
given questions: 
Eight Engineers at ABC company are sitting in two parallel rows 
containing four people each, in such a way that there is an equal 
distance between adjacent persons. In Row – 1 P, Q, R and S are 
seated (but not necessarily in the same order) and all of them facing 
South. In Row – 2 A, B, C and D are seated (but not necessarily in 
the same order) and all of them facing North. Therefore in the given 
seating arrangement each member seating in the row faces another 
member of the other row. 
R sits second to the right of P. A is an immediate neighbor of the 
person who faces R. Q sits second to left of the person who faces A. 
Only one person sits between B and C. C does not face P. C does not 
sit any extreme ends of the line. 
 
1.     Four of the five are alike in a certain way based on the given 
seating arrangement and thus form a group. Which is the one that 
does not belong to that group? 
(1) A                       (2) P 
(3) R                       (4) B 
(5) S 
 
2.     Who amongst the following faces B? 
(1) P                       (2) Q 
(3) R                       (4) S 
(5) Cannot determined 
 
3.     Which of the following true regarding S? 
(1) S sits exactly between R and P 
(2) S sits second to the left of Q 
(3) P is an immediate neighbour of S 
(4) D is the immediate neighbour of the person who faces S 
(5) None of the above 
 
4.     Who amongst the following faces Q? 
(1) A                       (2) B 
(3) C                       (4) D 
(5) Cannot determined 
 
5.     Who amongst the following faces the person who sits exactly 
between B and C? 
(1) P                       (2) Q 
(3) R                       (4) S 
(5) Cannot determined 
 
Solution:  
Row – 1     S        R        Q      P    
Row – 2     A       C         D     B 
1. (3)           
2. (1) P faces B       
3. (5) From the given statements regarding S none is true 
4. (4) D faces Q 
5. (2) Q faces the person who sits exactly between B and C. 
 

SET 2 Easy 
Directions (Q. 1-5): Study the given information carefully and 
answer the given questions.  
 
In a war room Ten commandos are sitting in two parallel rows 
containing five people each in such a way that there is equal 
distance between adjacent persons. In row 1, Jack, Kunal, Lalit, 
Monty and Nathan are seated (but not necessarily in the same 
order) and all of them are facing north. In row 2, Ricky, Smith, Tret, 
Uber and Vivian are seated (but not necessarily in the same order) 
and all of them are facing south. Therefore, in the given seating 
arrangement each member seated in a row faces another member 
of the other row.  
Vivian sits at one of the extreme ends of the line. Only two people 
sit between Vivian and Ricky. The one who faces Ricky sits on the 
immediate left of Lalit. Only one person sits between Lalit and 
Kunal. The one who faces Kunal sits on the immediate left of Smith. 
Nathan sits second to the right of Jack. Neither Kunal nor Lalit faces 
Uber.  
 
1. Who among the following is facing Monty?  
(a) Uber  
(b) Ricky  
(c) Tret  
(d) Vivian  
(e) Smith  
 
2. Four of the following five are alike in a certain way based on the 
given arrangement and hence form a group. Who among the 
following does not belong to that group?  
(a) Nathan, Kunal  
(b) Jack, Lalit 
(c) Monty, Lalit 
(d) Ricky, Uber 
(e) Smith, Tret 
 
3. What is the position of Uber with respect to Smith?  
(a) Third to the right  
(b) Immediate left  
(c) Second to the left  
(d) Second to the right  
(e) Immediate right  
 
4. Which of the following statements is TRUE regarding Nathan?  
(a) Only two persons sit between Nathan and Monty.  
(b) Nathan sits at an extreme end of the row – 1. 
(c) Nathan faces one of the immediate neighbours of Ricky.  
(d) None of the given statements is true  
(e) Lalit sits on the immediate right of Nathan.  
 
5. Who among the following is facing Tret?  
(a) Nathan 
(b) Monty 
(c) Kunal 
(d) Jack 
(e) Lalit 
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Set 3  
Directions: Study the following information to answer the 
questions. 
Twelve members of a cricket team are sitting in two parallel rows 
containing 6 people each, in such a way that there is an equal 
distance between adjacent persons. In row-1 P, Q, R, S, T, and U are 
seated and all of them are facing south. In row-2 A, B, C, D, E and F 
are seated and all facing North. Therefore in the given seating 
arrangement each member seated in a row faces another member 
of the outer row. 
S sits third to right of Q, either S or Q sits an extreme end of line. 
The one who faces Q sits second to right of E. Two people sits 
between B and F. Neither B nor F sits at an extreme end of the 
line.The immediate end of line. The immediate neighbour of B faces 
the person who sits third to left of P, R and T are immediate 
neighbours of the each other. C sits second to the left of A. T does 
not face the immediate neighbour of D. 
 
7.    Who amongst the following sits at the extreme ends of the 
rows? 
(a) S, D (b) Q, A (c) U, F (d) Q, E (e) P, D 
 
8.    Who amongst the following faces S? 
(a) A  (b) B (c) C (d) D (e) F. 
 
9.    How many persons are seated between U and R? 
(a) One (b) Two (c) Three (d) Four (e) None. 
 
10.  P is related to A in the same way as S is related to B based on 
the given arrangement. To which of the following is T related to, 
following the same pattern? 
(a) C  (b) D (c) E      (d) F (e) Cannot be determined. 
 
11.  Which of the following is true regarding T? 
(a) F faces T               
(b) U is an immediate neighbour of T 
(c) F faces the one who is second to right of T 
(d) T sits at one of the extreme ends of the line 
(e) Q sits second to the right of T. 
 
12.  Four of the following five are alike in a certain way based on the 
given arrangement & so form a group which is the one that does 
not being not being to that group? 
(a) A-T                              (b) B-T 
(c) F-P                              (d) C-U 
(e) E-Q. 
 

7. (e) 

8. (a) 

9. (b) 

10. (b) 

11. (c) 

12. (e) 

P      U      S      T      R      Q 
C      F      A      E      B      D 
 

Set 4 
Directions: Study the following information to answer the given 
questions:  
8 members of a Hockey team - Johnson, Ricky, Cook, Demon, Chris, 
Root, Peter and Mathew are sitting in a straight line equidistant 
from each other (but not necessarily in the same order). Some of 
them are facing south while some are facing north. 
Johnson faces north. Only two people sit to the right of Johnson. 
Ricky sits third to the left of Johnson. Only one person sits between 
Ricky and Root. Root sits to the immediate right of Chris. Only one 
person sits between Chris and Mathew. Both the immediate 
neighbors of Ricky face the same direction. Cook sits third to the 
left of Root. Ricky faces the opposite direction as Johnson. Peter 
does not sit at any of the extremes ends of the line. Demon faces 
the same direction as Chris. Both Peter and Cook face the opposite 
direction of Mathew. 
 
1. How many persons in the given arrangement are facing North? 
a. More than four b. Four c. One d. Three e. two 
 
2. Four of the following five are alike in a certain way, and so form a 
group. Which of the following does not belong to the group? 
a. Chris, Root b. Mathew, Peter c. Ricky, Johnson 
d. Ricky, Peter c. Demon, Cook 
 
3. What is the position of Root with respect to Mathew? 
a Second to the left  b Third to the right 
c Third to the left  d Fifth to the right 
e Second to the right 
 
4. Who amongst the following sits exactly between Mathew and 
Chris? 
a Ricky b Peter c Root d Chris e Cook 
 
5. Who is sitting 2nd to the right of Ricky? 
a Mathew b Demon c Root d Chris e None of the 
above 
 
 
1. B 
2. D 
3. B 
4. A 
5. B 

 

http://www.cetking.com/


75 must do Parallel Arrangements 

For classes mocks books call Cetking – 09594938931 | 09930028086 www.cetking.com 3 | P a g e  
 

Set 5 
Directions: Study the given information carefully and answer the 
given questions:  
Ten students of JBIMS are sitting in two parallel rows having five 
people each in such way that there is equal distance between 
adjacent persons. In row-1, Smith, Suma, Sandy, Suzie and Selwin 
are seated (not necessarily in the same order) and all of them are 
facing south. In row-2 Percia, Perlie, Piyona, Prissy and Phillip are 
seated (not necessarily in the same order) and all of them are facing 
north. Therefore, in the given seating arrangement each member 
seated in a row faces another member of the other row. Phillip sits 
third to the right of Perlie. Percia sits second to the left of Phillip. 
The person facing Percia sits on the immediate right of Suma. Only 
one person sits between Suma and Suzie. Smith is not an immediate 
neighbour of Suma. Only two people sit between Smith and Sandy. 
Neither Suma nor Smith faces Prissy.  
 
6. Who amongst the following is facing Selwin? 
 Prissy  Phillip  Percia  Piyona  Perlie 
 
7. Which of the following statements is TRUE regarding Suzie? 
 Suzie faces one of the immediate neighbours of Piyona. 
 Suma is one of the immediate neighbours of Suzie. 
 None of the given statements is true 
 Sandy sits on the immediate right of Suzie. 
 Only one person sits between Suzie and Selwin. 
 
8. Who among the following is facing Piyona? 
 Suma  Sandy  Suzie  Smith  Selwin 
 
9. What is the position of Phillip with respect to Prissy? 
 Third to the right 
 Second to the right 
 Immediate left 
 Immediate right 
 Second to the left 
 
10. Four of the given five are alike in a certain way based on the 
given arrangement and hence form a group. Which is the one that 
does not belong to that group? 
 Suzie   Smith  Selwin  Perlie  Prissy 
 
1 C 
2 D 
3 A 
4 C 
5 C 
 

Set 6 
Directions: Study the following information carefully and answer 
the questions given below: 
Ten artists are sitting in two parallel rows containing five person 
each, in such a way that there is an equal distance between 
adjacent persons. In first row Sapna, Sumit, Shushil, Sonia and 
Seema are seated and all of them are facing South. In second row, 
Sunita, Sujata, Surjeet, Suraj and Sanjeet are seated and all of them 
are facing North. Therefore in the given seating arrangement, each 
member seated in a row faces another member of the other row. 
 
Suraj sits third to the left of Sunita. Sapna faces immediate 
neighbour of Suraj. Shushil sits second to the right of Sapna. Only 
one person sits between Sunit and Sonia. Sujata and Sanjeet are 
immediate neighbours. Sanjeet does not face Sapna and Sumit. 
 
1. How many persons are seated between Sumit and Seema? 
1) None  
2) One  
3) Two 
4) Three  
5) Cannot be determined 
 
2. Who amongst the following faces Sonia? 
1) Sunita 2) Sujata 3) Surjeet 4) Suraj 5) Sanjeet 
 
3. Which of the following is true regarding Sujata? 
1) Sunita and Surjeet are immediate neighbours of Sujata 
2) Sujata sits at one of the extreme ends of the line. 
3) Seema is an immediate neighbour of the person facing Sujata. 
4) Suraj sits on the immediate left of Sujata 
5) None of these 
 
4. Who amongst the following are sitting exactly in the middle of 
the rows? 
1) Sapana, Sanjeet  
2) Sonia, Suraj  
3) Sonia, Sunita  
4) Sunita, Shushil  
5) Sapna, Surjata 
 
5. Four of the following five are alike in a certain way and thus form 
a group. Which is the one that does not belong to that group? 
1) Shushil 2) Sonia 3) Surjeet 4) Seema 5) Sunita 
 

 
 
1. 3 
2. 5 
3. 4 
4. 5 
5. 2 
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Set 7 
Directions (Q.1-5): Study the given information carefully and answer 
the given questions: 
Ten Cetking students are sitting in two parallel rows having five 
people each in such a way that there is equal distance between 
adjacent persons. In row – 1 Roy, Thakur, Singh, Gupta and Saini are 
seated (not necessarily in the same order) and all of them are facing 
south. In row-2 Mishra, Yadav, Rathore, Aggarwal and Pathak are 
seated (not necessarily in the same order) and all of them are facing 
north. Therefore, in the given seating arrangement each member 
seated in a row faces another member of the other row. 
Pathak sits third to the right of Yadav. Mishra sits second to the left 
of Pathak. The person facing Mishra sits on the immediate right of 
Thakur. Only one person sits between Thakur and Gupta. Roy is not 
an immediate neighbour of Thakur. only two people sit between 
Roy and Singh. Neither Thakur nor Roy faces Aggarwal. 
 
Q1. Who amongst the following is facing Saini? 
(a) Aggarwal (b) Pathak (c) Mishra (d) Rathore (e)Yadav 
 
Q2. Which of the following statements is TRUE regarding Gupta? 
(a) Gupta faces one of the immediate neighbours of Rathore 
(b) Thakur is one of the immediate neighbours of Gupta 
(c) None of the given statements is true 
(d) Singh sits on the immediate right of Gupta 
(e) Only one person sits between Gupta and Saini 
 
Q3. Who among the following is facing Rathore? 
(a) Thakur (b) Singh (c) Gupta (d) Roy (e) Saini 
 
Q4. What is the position of Pathak with respect to Aggarwal? 
(a) Third to the right  
(b) Second to the right  
(c) Immediate left  
(d) Immediate right  
(e) Second to the left  
 
Q5. Four of the given five are alike in a certain way based on the 
given arrangement and hence   form a group. Which is the one that 
does not belong to that group? 
(a) Gupta (b) Roy (c) Saini (d) Yadav (e) Aggarwal 
 
C 
D 
A  
C 
C 
 
 

 

SET 8 
Directions: Study the following information to answer the given 
question. 
Ten UFOs are sitting in two parallel rows containing five people 
each, in such a way that there is an equal distance between 
adjacent persons. In Row-1 R, S, T, U and V are seated (but not 
necessarily in the same order) and all of them are facing north. In 
Row-2 F, G, H, I and J are seated (but not necessarily in the same 
order) and all of them are facing south. Therefore, in the given 
seating arrangement each member seated in a row faces another 
member of the other row. T sits third to right of the person who 
faces F. Only two peoples sit between F and I. The person who faces 
U sits to immediate left of H. Only one person sits between Hand J. 
The one who faces G sits second to right of R. H does not face V. 
 
1.) Which of the following groups of people represents the people 
sitting at extreme ends of both the rows? 
1) F, J, D, R 
2) I, F, V, S 
3) J, I, V, T 
4) H, G, T, R 
5) F, G, T, U 
 
2.) Who sits to immediate right of the person who faces R? 
1) I 
2) H 
3) J 
4) F 
5) G 
 
3.) Which of the following is true regarding G? 
1) J sits second to right of G 
2) V is an immediate neighbour of the person who faces G 
3) Both H and I are immediate neighbours of G 
4) Only two people sit between G and I 
5) None of the given options is true 
 
4.) Which of the following is true with respect to the given 
information? 
1) J faces one of the immediate neighbours of S 
2) J is an immediate neighbour of I 
3) None of the given options is true 
4) U sits exactly between Sand T 
5) F faces U 
 
5.) Who amongst the following faces S? 
1) G 
2) H 
3) J 
4) I 
5) F 
 
 
1. 3 
2. 3 
3. 3 
4. 4 
5. 2 
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SET 9 Medium 
Directions (1- 7 ) : Study the following information  to answer the 
given questions. 
Twelve Cetking faculty are sitting in two parallel rows containing six 
people each, In such a way that there is an equal distance between 
adjacent persons. In row – 1, P , Q, R , S , t and V are seated and all 
of them are facing south. In Row-2, A, B, C , D , E and F are seated 
and all of them are facing north. Therefore, in the given seating 
arrangement each member seated in a row faces another member 
of the other row. 
A sits third to right of D. Neither A nor D sits at extreme ends. T 
faces D. V does not face A and V does not sit at any of the extreme 
ends. V is not an immediate neighbor of T. B sits at one of the 
extreme ends. Only two people sit between B and E. E does not face 
V. two persons sit between Rand Q. R is not an immediate neighbor 
of T. C does not face V. P is not an immediate neighbor of R. 
 
1. Who amongst the following sit at extreme ends of the rows? 
(1) B, E    (2) S, T (3) P, R    (4) B, F (5) None of these 
 
2. Who amongst the following faces A? 
(1) R    (2) P (3) P    (4) Q (5) S 
 
3. How many persons are seated between T and S? 
(1) One    (2) Two (3) Three    (4) Four (5) None 
 
4. P is related to V in the same way as C is related to F. to which of 
the following is E related to, following the same pattern? 
(1) B    (2) D (3) C    (4) A (5) None of these 
 
5. Which of the following is true regarding F? 
(1) F sits fourth to right of C 
(2) F is not an immediate neighbor of A. 
(3) F sits third to left of D 
(4) F sits at one of the extreme ends of the line 
(5) F faces V. 
 
6. Who amongst the following sits exactly between P and Q? 
(1) R    
(2) V 
(3) S    
(4) T 
(5) Cannot be determined 
 
7. Q types faster than R but not as fast as V. T types faster than R. S 
types fater than V Who amongst the five of them types the fastest? 
(1) V    
(2) T 
(3) S    
(4) Data Inadequate 
(5) None of these 
 
1. 3  
2. 5  
3. 2  
4. 1  
5. 5  
6. 4  
7. 4  
 

Set 10  
Directions: Study the following information to answer the given 
questions.  
Twelve Engineers are sitting in two parallel rows containing six 
people each, In such a way that there is an equal distance between 
adjacent persons. In row  1 P , Q , R , S , T and V are seated and all of 
them are facing north. Therefore, In the given seating arrangement 
each member seated in a rows facing another member of the other 
row. 
P sits third to the left of T, Neither P and T sits at an extreme end of 
the line. A sits second to the right of E. Neither A nor E faces T or P. 
A does not sit at an extreme end. R does not face A and R does not 
sit at an extreme end of the line. Only one person sits between F 
and C. Neither F  nor C faces T. C does not sit at the extreme end. 
Only one person sits between V and Q. F is not an immediate 
neighbor of B and A does not face V.  
 
1. How many persons are seated between B and D? 
(1) One    
(2) Two 
(3) Three  
(4) Four 
(5) None 
 
2. V ie related to B in the same way as Q is related to C. To which of 
the following is P related to , following the same pattern? 
(1) F   
(2) A 
(3) D   
(4) E 
(5) None of these 
 
3. Which of the following is true regarding V? 
(1) V faces A 
(2)  T is not immediate neighbor of V. 
(3) C faces the one who is second to left of V 
(4) V sits at one of the extreme ends of the true 
(5) R sits third to the right of V 
 
4. Who amongst the following sit at extreme ends of the rows? 
(1) D, F   
(2) V, S 
(3) Q,S   
(4) B, D 
(5) None of these 
 
5. Who amongst the following faces B? 
(1) V   
(2) S 
(3) Q   
(4) R 
(5) T 
 
1. 2 
2. 1 
3. 4 
4. 2 
5. 5 
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Set 11 
Directions (1-5): Study the following information to answer the 
given questions: 
Twelve cartoonists are sitting in two parallel rows containing six 
people each in such a way that there is an equal distance between 
adjacent persons. In row-1, G, H, I, J, K and L are seated (but not 
necessarily in the same order) and all of them are facing south. In 
row-2, S, T, U, V, W and X are seated (but not necessarily in the 
same order) and all of them are facing north. Therefore, in the given 
seating arrangement, each member seated in a row faces another 
member of the other row. 

 The one who faces H sits third to the left of V. V does not sit at 
any of the extreme ends of the line. S sits second to the left of V. 

 The one who is facing T sits third to the right of G. T does not sit 
at any of the extreme ends of the line. 

 Only one person sits between G and I. 

 K is an immediate neighbor of neither I nor H. 

 The one who is facing W sits second to the left of L. L does not 
face X. 
 
1. Who amongst the following sits second to the left of the person 
who faces T? 
(a) M (b) I (c) J (d) K (e) L 
 
2. Which of the following is true regarding S? 
(a) Both T and W are immediate neighbours of S. 
(b) None of the given options is true 
(c) Only one person sits between S and U. 
(d) S sits second to right of X. 
(e) X is an immediate neighbor of the person who faces S. 
 
3. Who amongst the following faces I? 
(a) U (b) S (c) T (d) W (e) V 
 
4. Which of the following groups of people represents the people 
sitting at the extreme ends of both the rows? 
(a) H, I, S, U (b) L, J, X, U (c) J, K, X, W (d) I, L, U, X (e) H, G, S, W 
 
5. Which of the following is true with respect to the given 
information? 
(a) I face W. 
(b) None of the given options is true 
(c) G sits exactly between J and I. 
(d) U is an immediate neighbour of W. 
(e) H faces the immediate neighbour of X. 
 

 
1 E 
2 D 
3 B 
4 C 
5 E 
 
 

Advance SET 12 
Directions: Study the given information carefully to answer the 
given questions: 
Eight Cetking students Ela, Fan, Gun, Henry, Watson, Xcock, Yaami 
and Zarin are sitting in two parallel rows containing four people 
each. Ela, Fan, Gun and Henry are sitting in row-1 facing north and 
Watson, Xcock, Yaami and Zarin are sitting in row-2 facing south 
(but not necessarily in the same order). Thus, each person sitting in 
row-1 face another person sitting in row-2. Each of the two rows 
consists of one Doctor, one Engineer, one Pilot and one Scientist 
(but not necessarily in the same order).  
 
• The Doctor of row-1 sits second to the right of Henry.Xcock faces 
one of the immediate neighbours of Henry. Only one person sits 
between Xcock and the Scientist.  
• The one who faces the Scientist of row-2 is an immediate 
neighbour of Ela. Only one person sits between Ela and the Pilot.  
• Watson sits second to the right of Zarin. Yaami does not face Gun. 
The Scientist of row-1 faces the Engineer of row-2.  
• Gun faces one of the immediate neighbours of the Doctor of row-
2. The Doctor of row-2 does not sit at any of the extreme ends of 
the line. Zarin is not a Doctor.  
 
1. Which of the following represents the people sitting at extreme 
ends of both the lines?  
(a) Fan, Henry and Xcock, Yaami (b) Fan, Henry and Zarin, Watson 
(c) Gun, Ela and Zarin, Xcock  (d) Ela, Henry and Xcock, Zarin 
(e) Gun, Ela and Watson, Yaami 
 
2. Who amongst the following sits on the immediate left of Pilot of 
row-1? 
(a) Henry (b) The Doctor of row-1 (c) The Engineer of row-1 
(d) Gun (e) Fan 
 
3. Which of the following represent both the immediate neighbours 
of Yaami?  
(a) Zarin and the Scientist of row-2  
(b) Xcock and the Engineer of row-2 
(c) Watson and the Doctor of row-2 
(d) Xcock and the Pilot of row-2 
(e) Watson and the Pilot of row-2 
 
4. Which of the given statements is true with respect to the given 
arrangement?  
(a) Yaami sits on the immediate right of Xcock. 
(b) Fan and Zarin face each other. 
(c) Gun is a Scientist. 
(d) None of the given statements is true 
(e) The Engineer of one row faces the Doctor of another row. 
 
5. If Yaami and Xcock interchange their places, so do Henry and 
Zarin, then who amongst the following faces Ela?  
(a) Yaami (b) Henry (c) Fan (d) Watson  
(e) Other than those given as options 
 
Answer: (c) Answer: (d) Answer: (e) Answer: (c) Answer: (b) 
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Advance Set 13 
Directions: Study the following information carefully to answer the 
given questions:  
Eight Cetking students from different banks, viz UCO Bank, 
Syndicate Bank, Canara Bank, PNB, Dena Bank, Oriental Bank of 
Commerce, Indian Bank and Bank of Maharashtra, are sitting of two 
parallel rows containing four people each, in such a way that there 
is an equal distance between adjacent persons. In row 1 Raghuram 
Rajan, Shikha Sharma, Chanda Kochhar and HR Khan are seated and 
all of them are facing south. In row 2 Urjit Patel, SS Mundra, Rakesh 
Sethi and Rana Kapoor are seated and all of them are facing north. 
Therefore in the given seating arrangement each member seated in 
a row faces another member of the other row. (All the information 
given above does not necessarily represent the order of seating as 
in the final arrangement.) 
 
• Chanda Kochhar sits second to right of the person from Bank of 
Maharashtra. Rakesh Sethi is an immediate neighbour of the person 
who faces the person from Bank of Maharashtra. 
• Only one person sits between Rakesh Sethi and the person from 
PNB. The immediate neighbour of the person from PNB faces the 
person from Canara Bank. 
• The person from UCO bank faces the person from oriental Bank of 
Commerce. Rakesh Sethi is not from Oriental Bank of Commerce. 
Urjit Patel is not from PNB. Urjit Patel does not face the person 
from Bank of Maharashtra. 
• SS Mundra faces the person from Dena Bank. The one who faces 
Rana Kapoor sits to the immediate left of Raghuram Rajan. 
• Shikha Sharma does not sit at any of the extreme ends of the line. 
The person form Bank of Maharashtra does not face the person 
from Syndicate Bank. 
 
Q1. Which of the following is true regarding Raghuram Rajan? 
(a) The person from UCO Bank faces Raghuram Rajan 
(b) The person from Bank of Maharashtra is an immediate 
neighbour of Raghuram Rajan  
(c) Raghuram Rajan faces the person who sits second to the right of 
Rakesh Sethi 
(d) Raghuram Rajan is from Oriental Bank of Commerce 
(e) Raghuram Rajan sits at one of the extreme ends of the line 
 
Q2. Who is seated between Rakesh Sethi and the person from PNB? 
(a) The person form Oriental Bank of Commerce  
(b) Urjit Patel 
(c) SS Mundra 
(d) The person from Syndicate Bank  
(e) Rana Kapoor 
 
Q3. Who amongst the following sit at extreme ends of the rows? 
(a) HR Khan and the person from PNB 
(b) The persons from Indian Bank of UCO Bank  
(c) The persons from Dena Bank and Urjit Patel 
(d) The persons from Syndicate Bank and HR Khan 
(e) Chanda Kochhar, SS Mundra 
 
Q4. Who amongst the following faces the person from Bank of 
Maharashtra? 
(a) The person form Indian Bank 
(b) Urjit Patel 
(c) Rakesh Sethi 

(d) The persons form Syndicate Bank and HR Khan 
(e) The person from Canara Bank  
 
Q5. If Urjit Patel is related to Dena Bank in the same way as Shikha 
Sharma is related to PNB based on the given  arrangement. Who 
amongst the following is HR Khan related to, following the same 
pattern? 
(a) Syndicate Bank  
(b) Canara Bank  
(c) Bank of Maharashtra  
(d) Indian Bank  
(e) Oriental Bank of Commerce  
 
Q6. Four of the following five are alike in a certain way based on the 
given seating arrangement and thus form a group. Which is the one 
that does not belong to the group? 
(a) Canara Bank 
(b) Rakesh Sethi 
(c) Syndicate Bank  
(d) SS Mundra 
(e) Oriental Bank of Commerce  
 
Q7. Who amongst the following is from Syndicate Bank? 
(a) Chanda Kochhar 
(b) Rakesh Sethi 
(c) Urjit Patel 
(d) HR Khan 
(e) Raghuram Rajan 
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Advance Set 14 
Directions: Read the following information carefully and answer the 
questions that follow. 
Ten Cetking students are sitting in two parallel rows containing five 
persons each. In row 1, Amitabh, Rakesh , Akshay, Arti and Ritesh 
are sitting and all of them are facing south. In row 2, Jaya, Poonam, 
Twinkle, Gaurav and Jenelia are sitting and all of them are facing 
north. In the given seating arrangement, each member seated in a 
row faces another member of the other row. Moreover, each of 
them belongs to different cities — Meerut, Gurgaon, Begusarai, 
Hajipur, Noida, Cuttack, Banaras, Haridwar, Allahabad and 
Mednipur but not necessarily in the same order.   
There are only two persons sitting between the person from 
Merrut, who sits at an extreme end, and Ritesh. Jaya, who sits in the 
middle of the row, is not an immediate neighbour of Poonam, who 
is not from Mednipur. Jenelia is sitting at an extreme end. Ritesh, 
from Noida , sits on the immediate right of the person from 
Gurgaon and faces the immediate neighhour of Poonam. Rakesh is 
not sitting at the extreme left end. Jaya is not from Allahabad. There 
is only one person between Akshay and Arti, who is from Meerut. 
Gaurav, from Cuttack, is an immediate neighbour of the person 
from Mednipur and does not face the person from 
Begusarai.Twinkle, who is from Hajipur, is an immediate neighbour 
of the person from Allahabad, who in turn faces the immediate 
neighbour of the person from Noida. There are two persons 
between the person from Banarasand the person from Begusarai. 
Rakesh is not from Banaras. Jenelia is not from Haridwar. 
 
1. Amitabh belongs to which of the following cities?  
1) Haridwar 
2) Banaras 
3) Begusarai 
4) None of these 
5) Can't be determined   
 
2. Who is from Haridwar? 
1) Twinkle 
2) Rakesh 
3) Jenelia 
4) Jaya 
5) Can't be determined  
 
3. ‘Merrut’ is related to 'Banaras' in a certain way, based on their 
seating positions. Then  Mednipur  is related to whom, following the 
same seating positions?  
1) Haridwar 
2) Allahabad 
3) Gurgaon 
4) Cuttack 
5) Hajipur 
 
4. Four of the following five are alike in a certain way based on their 
seating positions and so form a group. Which of the following is 
different from the group?  
1) Noida 
2) Banaras 
3) Mednipur 
4) Hajipur 
5) Cuttack 
 

5. Which of the following statements is/are definitely false?  
1) Rakesh is from Begusarai.  
2) There are two persons sitting between the person from cuttack 
and the person from Allahabad.  
3) The person from Gurgaon faces the person from Haridwar .  
4) The person who is from Allahabad sits opposite the person from 
Merrut.  
5) All are true  
 
Answers 
(2) Amitabh belongs to Banaras 
(4) Jaya is from Haridwar  
(4) Cuttuck 
(3) Among all options only person from Mednipur sits at the 
extreme ends. 
(4) The person who is from Allahabad sits opposite the person from 
Merrut. 
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